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If there are 2 times as many = £92
equal parts, then there are 2 0241 1000
times as many shaded parts 1 — 02 = 20%
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10, 100 and 1000 Missing height = h =9 - 4 = 5cm

< entimes 136 Perimeter
greater - 1136 < i
move digits 1 place left =q9+7+h+6+4+w
136 = 44cm
1183[6]0]0 move digits 3 places left
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<Ten times 136 < 25cm = approximately 1 inch Linches ,
smalle_r/) 1¢3]1]6 move digits 1 place right m ° 10 15 20
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1m = 100 cm 1km = 1000 m 11 = 1000 mi B =, ¢ 7)) 1kg = approximately 2 pounds
136 x 100 = 1360 136 x 1000 = 13600 13600 - 1000 = 136 o 4 o 8 '
% so 136m = 1360cm so 136km = 13,600m so 13,600ml = 136litres 7 X 7 < e
in=tomn (e i tezio0g S
136 x 10 = 136 © a smaller unit, multiply because +1000 = 1. 1 litre = OXi ints |- :
so 1360m = 136mm there will be more of them. 50 1360g = 1.36kg kr approximately 2 pints 5
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